ERIE - 187 \ S EMEEE

261 265 269 273 277
1 (-54)=9 1 (42)=(-7) 1 745 1 4-5 24+ (-3)
2 2.¢h 2 2.2 2 3(a+3b-2)+2(a—5b) 2 (6Px4 1.2
3 3(-3a—b+2)-2(a—5b) 3 2(-a+4b-3)-(3a+5b—6) 3 (@28x-7)xLz 3 3x-3y)+@x+5y—6) 53%—y)—3@x—4y 1)
4 36x%y+9y+(-2x) 4  15ab—10ab’ +5b 4 ([ +2)2_£ 4 54ab? - 6ab x 4b 35a°b + 14a® x 6ab
REER 5 (3 -2 0 5 2L 4@+5)e-5) (12 +2)(JI2 -3+ —=
5 (3+J§)(3—J§)—ﬁ J1z 5 (x+5)@-5)—@-3)x+1) NG J3
6 (x-2)@+5)+(@—4)> 6 @-3)x-5)+x+6)x—6) 270 6 (@+5)%—(x-3)x-4) @+2)(x+5) - (x—3)*
262 266 | Coyxo 274 278
1 5+(-1I) T E9+E9 2 3@r+y)-5@-2y) 7=t 6x(8)
_ 9
2 (-L5)x0.4 2 03x(-09 3 (72a%+18ab)+9a 2 5+ 5-2
3 2@-3y-2)+3x+2y-1) 3 3@x-by+3)-2(x-4y-7) 4 m+%_4/§ 3 (@+2y—-3)-3@x—y—4) 5(a—3b+1)—2(a—5b)
L 5h 3
4 8ab-abx3a 4 40ab” - 5b = 2ab , 4 (24a® +8ab)+8a (~612 +82) + 8z
16 5 (@+2)@-5)-(@-2)
5 (527 Jj; 5 (J8 +1)(J8 +3) 5 S 5 ﬁumm—% 2_\/17+(2—ﬁ)2
_ _ Y ~Y4
6 (x+6)x—6)—(x+2)(x—-5) 8 @+Ae-H-(-9) 1 (-48)+8 6 (x+5)x—5)+x+4)(x+3) @+1)? - (@x+3)(x—-3)
263 267 ) 2.2 275 279
1 20+(—4) ,
1 5-2 ;s 3 3(-2a-b+3)-2(a—5b) 1 (596 ~8+3
2 (apxd > 126 4 36y y s (-3 2 4.2 3(a+b-2)+5a-3b)
3 5@-2y)+@+5y-3) 3 r-dyy-da-4y-1) A 27 3 2(-a+3b-5)—(5a+3b—4) (25x—5)><%x
4  15a°b+9a® x 6ab J3 2. 2
4 42db2+6db><4b J_ f p 4  18ab—12ab* +~4b (ﬁ +3)2_T§
10 5 (J8 +3)(J8 -2)+—= 6 @-3)x+4)+@x-2)7° 5 L—(ﬁ P
5 ﬁ+(3+ﬁ)(2—ﬁ) 2 = J1z @+ 4)x—4) - @-2)@+3)
6 @t5)@+d)—(x—6) 272
6 (x+4)°-(x-3)x-2) 6 @-3)x-9)+@+7)(x-7) 280
268 1 3+(8)
264 2 (-15)x04 276 (-3)x6
tooxen 1 (6)+(-5)
1 5-(-6) 51 3 3x-3y-2)+5@+2y-3) 7(2x+y) - 5(x—2y)
2 %+(_%) 8 2 4 12a°b—abx5a 2 04x(-0.6) (36a® + 12ab) + 4a
3 7Za-2b+1)-4(a—2b) [ 3 4@2r-y+3)-3@x-2y-5) 6
3 y-7)-2B3x-y-5 PN E J50 +—=-62
@y =D =20=y=5) 4 (-9% +6x)~6x 5 (J3-27+ 5 4 36ab? 4b+3ab 2
¢ L5 (1- 5y 6 (@+6)@—6)-@+2)@-4) 12 +1)([T2 +3)- L =)@
5 2L (- x+6)(x—6)— (x+2)(x— 5 B
s BWE T L 5 W
6 @+2°-(x+3)@x-3) 6 (@+Dx-3)-(x-57
6 @X+)x-3)+E+5H)(x+2)




